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Task Weighting 15%

General Instructions

e Time allowed — 50 minutes

+  Write your name at the top of each page

» Start each question on a new page

« Attempt all questions

« Show all working

¢ Marks may be deducted for careless or
badly arranged work

« Approved calculators should be used

» Mathematical templates, geometrical
equipment and scientific calculators
may be used.
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Question 1
Communication { /2 JAY:
Question 2
Communication 3 3 7 /9
Question 3
Reasoning 3 1 £/9
Question 4 <
Reasoning 6 &
b 36
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Question 1 (9 Marks)

(@ If aand pare the roots of the equation 2x*~ 7x — 5 =0, find the value of
)a+ g
i) af
i) & +aff + B2
(6)  Kemry said that the roots of 10 + 4x — 3x%= 0 are real, unequal and rational.
Do you agree with Kerry? Justify your answer with appropriate calculations:
J
(c)  Find the coordinates of the focus of the parabola
= ~8(y-2)
(d Sketch the parabola y= —3x2+ 6x — 7, showing all important features.
Question 2 (9 marks) START A NEW PAGE
(@)  Solve forx: 2x*+7x >30
(b) A point, P, moves according to the equation x2+ 2x + yi-6y+7=0.
Describe the locus of P.
(c) Solve for x: 367 - 4(6")-12=0
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Question 3 (9 marks) START A NEW PAGE Marks

(a) A point P (x, y) moves so that its distance from A (3,2) is always twice its 3
distance from B (- 1, 6). Find the equation of the path of P. - |

(b) Express 2x”~ 7x — 4 in the form 4 (x+2)* +B(x+2)+C. 3

(©) Is the line, 3x+4y—15=0, atangent to the circle 3
(x=3)2 +(y+6)* =257
Justify your answer with appropriate calculations.

Question 4 (9 marks) START A NEW PAGE

(2) A point moves so that it is always the same distance from the point (4, — 1) 2
as it is from the line y =~ 5. Find the equation of the locus.

(b)  Find the value of m in the quadratic, 5x* ~2mx+10=0 ifit has no real roots. 3
(¢)  Theroots of 2x> —2kx + k +7 =0 are consecutive integers. 4
Find the value of %.
END OF ASSESSMENT
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